There are 10 taxis. Each
taxi has 3 people in it. How
many people are there all
together?

10.

Weekly Arithmetic 10 a day w/b 8/6/20
Monday Tuesday
1. Double 6=___ 1. Double 12=___
12+ =20 2.10+_____ =20
13+ 7+4=_ 3.3+6+4=____
.20=15 +_____ 4.7+70 =____
. 4x2= 5.80=10x__
.40 + 5= 6. 35 + 5=
=42+ 20 7.17 +14=
.48 - 14 = 8.70-30=
9. +8=38 9. +7=20

30 chocolates need to be
shared equally between 6
children. How many does
each child get?




Wednesday
1. Double 10 =

3.3+8+ 7=

4.75-32 =

5.8x5=

/. 40+ 60 =

8.37/7-23 =

9. -16=2

10. Isla has 2 flowers and Samuel
has 8 flowers. How many more
flowers does Samuel have?

Thursday

1. Halfof 16 = ____

2. +12=22

3. 6+13+7=____

4,  =6+14

5.11x5=

6. 50 + 5=

7.32+24=

8. 59-14=

9. -7=15

10. Jasmine has 14 cookies

and Gia has 12. How many
cookies do they have
altogethere




Friday
. Double 40 =

.eof 14 =
Vaof 12 =

. I have 3 10p coins, 4 5p coins
and a 20p coin. How much
money do | have?e

. Brandon'’s sunflower is 50 cm
tall. The tulip is 10cm shorter
than the sunflower. How tall is
tulip?

. There are 30 biscuits in the
biscuit fin. One child ate 4
biscuits, another child ate 7
biscuits. How many biscuits
were left in the tine

. There are 50 sweets and |
need to share them fairly
between my 10 friends. How
many sweets does each
friend gete

. Thomas has 4 pens. Lucy has 9
pens. Miss Anderson says
Thomas has half the amount
of pens as Lucy. Is Miss
Anderson right? How do you
know?e




